

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

OMB No 1545-0052 2009

Department of the Treasury Internal Revenue Service

Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements

			and ending		r		
G	heck a		turn of a former public o			Final return	
	the IR		ress change	Name	change	loyer identification num	
	เกе เห abel.	5 Hambon Journalian				-0510351	301
	erwise	Getsch Charitable Trust				hone number (see page 10	of the instructions)
	orint	Number and street (or P O box number if mail is not delivered	to street address)	Room/suite		2-897-3863	,
OI	type.	P.O. Box 385258		_	C If exe	mption application is pendi	ng, check here
	Specif	ony or town, state, and zir code			D 1. Fo	reign organizations, check	here •
Instr	uction	DICOMITING COIL PM	<u>55438-5258</u>		2. Fc	oreign organizations meetin	g the
<u>н</u> с	heck t	ype of organization X Section 501(c)(3) exempt private	foundation		1	% test, check here and atta	
LĿ	Section	4947(a)(1) nonexempt charitable trust Other taxable	e private foundation			ate foundation status was t	
		ket value of all assets at end J Accounting method	Cash X Acci	rual	section	on 507(b)(1)(A), check here	• [
		rom Part II, col (c), Other (specify)	•		ì	foundation is in a 60-montl	_
	e 16) •	· · · · · · · · · · · · · · · · · · ·	be on cash basis)		under	section 507(b)(1)(B), chec	k here 🔷 📗
Pŧ	ert l	Analysis of Revenue and Expenses (The	(a) Revenue and	(b) Net in	(actment	(a) Adjusted not	(d) Disbursements
		total of amounts in columns (b), (c), and (d) may not necessarily equal	expenses per books	(b) Net inco		(c) Adjusted net income	for charitable purposes
	r .	the amounts in column (a) (see page 11 of the instructions))			W-1511		(cash basis only)
	1	Contributions, gifts, grants, etc , received (attach schedule)					
	2	Check • X if the foundation is not required to attach Sch B			10 155		
	3	Interest on savings and temporary cash investments	19,491		19,491	19,491	
	4	Dividends and interest from securities	44,208		44,208	44,208	** '!!' '! -d ''. 'I. ''.
	5a	Gross rents					
ne	b	Net rental income or (loss)	146 040			<u> </u>	
Revenue	6a	Net gain or (loss) from sale of assets not on line 10	-146,840				
é	l b	Gross sales price for all assets on line 6a 1,349,148	<u></u>		·	······································	
œ	7	Capital gain net income (from Part IV, line 2)		······································	0	07.005	
	8	Net short-term capital gain				27,825	
	10a	Income modifications					
	b	Gross sales less returns & allowances Less Cost of goods sold	··· ·· · · · · · · · · · · · · · · · ·	****	· 11 · · · · · · · · · · · · · · · ·	'IIII-'.ilIII'III''	. (*)()11
	C	Gross profit or (loss) (attach schedule)					····
	11	Other income (attach schedule)					
	12	Total. Add lines 1 through 11	-83,141		63,699	91,524	
	13	Compensation of officers, directors, trustees, etc.	12,000		03,033	31,324	12,00
es	14	Other employee salaries and wages		<u> </u>			12,00
Su:	15	Pension plans, employee benefits 116 1 0 2010	918				91
xpenses	16a	Other employee salaries and wages Pension plans, employee benefits Legal fees (attach scheddie)	1				
ш	b	Accounting fees (attach schedule)	700			 -	70
and Administrative	С	Other professional fees (attach schedule)					
rat	17	Interest					
ist	18	Taxes (attach schedule) (see page 14 of the instructions) Stmt 2	446		446	446	
Ë	19	Depreciation (attach schedule) and depletion					
q	20	Occupancy					
۲	21	Travel, conferences, and meetings					
anc	22	Printing and publications					
ğ	23	Other expenses (att sch.) Stmt 3	8,974		8,974	8,974	8,97
Ē	24	Total operating and administrative expenses.					
Operating an		Add lines 13 through 23	23,038		9,420	9,420	22,59
S	25	Contributions, gifts, grants paid	109,300				109,30
<u> </u>	26	Total expenses and disbursements. Add lines 24 and 25	132,338		9,420	9,420	131,89
	27	Subtract line 26 from line 12					.,
	а	Excess of revenue over expenses and disbursements	-215,479				·
	b	Net investment income (If negative, enter -0-)			54,279		
	С	Adjusted net income (if negative, enter -0-)	l			82,104	

_	Part I	Balance Sheets Attached schedules and amounts in the description column	Beginning of year	End of	year
_	Pan i	should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash—non-interest-bearing	962	4,050	4,050
	2	Savings and temporary cash investments	46,781	6,849	6,849
	3	Accounts receivable ◆			
	}	Less allowance for doubtful accounts ◆	7,288	144-7-11 1-11-11-11-11-11-11-11-11-11-11-11-1	
	4	Pledges receivable ◆			
		Less allowance for doubtful accounts ◆			
	5	Grants receivable .			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons (attach schedule) (see page 16 of the			
		instructions)			
	7	Other notes and loans receivable (att schedule) ◆			
		Less, allowance for doubtful accounts ◆			
ets	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges	3,361	214	
⋖		Investments—U S and state government obligations (attach schedule)	1 510 400	1 505 005	1 711 060
	b	Investments—corporate stock (attach schedule) See Stmt 4 Investments—corporate bonds (attach schedule) See Stmt 5	1,510,403	1,525,935	1,711,269
	C		936,653	755,196	799,055
	11	Investments—land, buildings, and equipment. basis ◆			
	42	Less accumulated depreciation (attach sch.) ◆			
	12	Investments—mortgage loans			
	13 14	Investments—other (attach schedule)			
	14	Land, buildings, and equipment basis •			
	15	Less accumulated depreciation (attach sch) ◆ Other assets (describe ◆)			
	16	Other assets (describe ◆) Total assets (to be completed by all filers—see the			
	''	instructions Also, see page 1, item I)	2,505,448	2,292,244	2,521,223
	17	Accounts payable and accrued expenses	2,303,110	33	
	18	Grants payable			
Liabilities	19	Deferred revenue			
Ħ	20	Loans from officers, directors, trustees, and other disqualified persons			
ab	21	Mortgages and other notes payable (attach schedule)			
Ξ,	22	Other liabilities (describe ◆)			
	23	Total liabilities (add lines 17 through 22)	0.	33	
,		Foundations that follow SFAS 117, check here ◆			
ces		and complete lines 24 through 26 and lines 30 and 31.			
Š	24	Unrestricted			
lai	25	Temporarily restricted			
Ва	26	Permanently restricted			
Net Assets or Fund Balan		Foundations that do not follow SFAS 117, check here ◆ X and complete lines 27 through 31.			
7 F	27	Capital stock, trust principal, or current funds		İ	
0	27 28	Paid-in or capital surplus, or land, bldg , and equipment fund			
ets	29	Retained earnings, accumulated income, endowment, or other funds	2,505,448	2,292,211	
SS	30	Total net assets or fund balances (see page 17 of the			
4	30	instructions)	2,505,448	2,292,211	
Ne	31	Total liabilities and net assets/fund balances (see page 17			
	"	of the instructions)	2,505,448	2,292,244	
	Part I		<u> </u>		
		net assets or fund balances at beginning of year—Part II, column (a), line 30 (must	agree with		
		f-year figure reported on prior year's return)	-	1	2,505,448
2		amount from Part I, line 27a	•	2	-215,479
3		increases not included in line 2 (itemize) ◆ See Statement 6		3	2,800
4		nes 1, 2, and 3		4	2,292,769
5		eases not included in line 2 (itemize) See Statement 7	•	5	558
6		net assets or fund balances at end of year (line 4 minus line 5)—Part II, column (b),	line 30 .	6	2,292,211
_					Form 990-PF (2009)

Part IV Capital Gains a	nd Losses for Tax on Investme	nt Income			
	be the kind(s) of property sold (e.g., real estate, rehouse, or common stock, 200 shs. MLC Co.)		(b) How acquired P—Purchase D—Donation	(c) Date acquired (mo , day, yr)	(d) Date sold (mo , day, yr)
1a See Attached Sc	hedule		D	Various	Various
b See Attached Sc			D	Various	Various
c Acct 303-26585					
d					
е					
(e) Gross sales price	(f) Depreciation allowed (or allowable)	, ·•·	other basis nse of sale		or (loss)) minus (g)
a 276,011			248,186		27,825
ь 1,073,137			1,247,802		-174,665
С					
d					
е					
Complete only for assets showing	g gain in column (h) and owned by the four	ndation on 12/31/69		(I) Gains (Col	(h) gain minus
(I) F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69	1 ' '	s of col (i) (j), if any	col (k), but not	less than -0-) or om col (h))
a					27,825
b					-174,665
С					
d					
е					
2 Capital gain net income or (net ca	apital loss) If gain, also enter in	P*		2	-146,840
3 Net short-term capital gain or (los	ss) as defined in sections 1222(5) and (6)	·			
If gain, also enter in Part I, line 8,	column (c) (see pages 13 and 17 of the ir	nstructions).			
If (loss), enter -0- in Part I, line 8		· _ſ		3	27,825
Part V Qualification U	nder Section 4940(e) for Reduc	ed Tax on Net I	nvestment Incor	ne	
(For optional use by domestic private	foundations subject to the section 4940(a) tax on net investme	ent income)		
		,	,		
If section 4940(d)(2) applies, leave th	is part blank				
	ion 4942 tax on the distributable amount of ify under section 4940(e) Do not complete		e penod? X Ye	s No	
	each column for each year, see page 18 o		ore making any entries		
(a) Base period years Calendar year (or tax year beginning	(b)		(c) of noncharitable-use ass	Dist	(d) ribution ratio divided by col (c))
2008	7			(60) (6) (aivided by cor (c))
2007			·		
2006					
2005					
2004					
	 				
2 Total of line 1, column (d)				2	
3 Average distribution ratio for the	5-year base period—divide the total on line	e 2 by 5, or by the			
number of years the foundation h	as been in existence if less than 5 years			3	
4 Enter the net value of noncharital	ble-use assets for 2009 from Part X, line 5	j		. 4	
5 Multiply line 4 by line 3				5	
			•		
6 Enter 1% of net investment incom	ne (1% of Part I, line 27b)			6	
7 Add lines 5 and 6				7	
8 Enter qualifying distributions from				8	
· · · · · · · · · · · · · · · · · · ·	n line 7, check the box in Part VI, line 1b, a	and complete that par	rt using a 1% tax rate.	See the	
Part VI instructions on page 18		· 			
					Form 990-PF (2009)

DAA

Form 990-PF (2009)

Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3) the lapse of

Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2009?

the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the

foundation had excess business holdings in 2009)

Form 990-PF (2009)

X

3b

4a

4b

N/A

orm	990-PF (2009) Getsch Charitable Trust	45-0	510351			<u>Pa</u>	age 6
Pá	rt VII-B Statements Regarding Activities for Which Form 4	1720 May Be Re	equired (conti	nued)			
5a	During the year did the foundation pay or incur any amount to						
	(1) Carry on propaganda, or otherwise attempt to influence legislation (section 49-	45(e))?	<u> </u>	Yes 🔀 No		1	
	(2) Influence the outcome of any specific public election (see section 4955); or to	carry on,	_				
	directly or indirectly, any voter registration drive?			Yes 🗶 No			
	(3) Provide a grant to an individual for travel, study, or other similar purposes?			Yes 🗶 No		ļ	
	(4) Provide a grant to an organization other than a charitable, etc., organization de	escribed in					
	section 509(a)(1), (2), or (3), or section 4940(d)(2)? (see page 22 of the instru	ctions)		Yes 🗶 No			
	(5) Provide for any purpose other than religious, chantable, scientific, literary, or e	ducational	_	_		!	
	purposes, or for the prevention of cruelty to children or animals?			Yes X No		1	
b	If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify under	the exceptions desc	ribed in	_			
	Regulations section 53 4945 or in a current notice regarding disaster assistance (s	see page 22 of the in	nstructions)?	N/A	5b		
	Organizations relying on a current notice regarding disaster assistance check here	:		♦ 🗌			
¢	If the answer is "Yes" to question 5a(4), does the foundation claim exemption from	the tax		_			
	because it maintained expenditure responsibility for the grant?		N/A 🗍	Yes No			
	If "Yes," attach the statement required by Regulations section 53 4945-5(d).			_		ļ	
6a	Did the foundation, during the year, receive any funds, directly or indirectly, to pay	premiums					
	on a personal benefit contract?	•	Π,	Yes X No			
b	Did the foundation, during the year, pay premiums, directly or indirectly, on a person	onal benefit contract	2		6b		X
	If "Yes" to 6b, file Form 8870						
7a	At any time during the tax year, was the foundation a party to a prohibited tax shell	ter transaction?	Π.	Yes X No			
b	If yes, did the foundation receive any proceeds or have any net income attributable	e to the transaction?		N/A	7b		
Pź	at VIII Information About Officers, Directors, Trustees, Fo	undation Mana	gers, Highly I	Paid Employe	es,		
	and Contractors				•		
1 1	ist all officers, directors, trustees, foundation managers and their compensat	ion (see page 22 o	f the instructions	5).			
		(b) Title, and average	(c) Compensation	(d) Contributions to			
	(a) Name and address	hours per week	(If not paid, enter	employee benefit plans and deferred		pense ac r allowan	
		devoted to position	-0-)	compensation			
Se	e Statement 8		ļ		ļ		
					İ		
					L		
		İ					
		<u> </u>					
		<u> </u>					
2	Compensation of five highest-paid employees (other than those included on	line 1—see page 2	23 of the instruct	ions).			
	If none, enter "NONE."			· · · · · · · · · · · · · · · · · · ·			
		(b) Title, and average		(d) Contributions to	/->-		
	(a) Name and address of each employee paid more than \$50,000	hours per week	(c) Compensation	employee benefit plans and deferred		pense ad r allowan	
		devoted to position		compensation			
NC	NE .	1	Į		ĺ		
		<u> </u>					
					ĺ		
		1	Ì				
					<u> </u>		
					1		
		<u> </u>		<u> </u>			
	•	1					
		<u> </u>	L	J	L.,		
ota	number of other employees paid over \$50,000					1	

Form **990-PF** (2009)

Form 990-PF (20	09) Getsch Charitable Trust	45-0510351	Page 7
Part VIII	Information About Officers, Directors, Trustees, Four and Contractors (continued)	idation Managers, Highly Paid Em	
3 Five highe	est-paid independent contractors for professional services (see page	23 of the instructions). If none, enter "NON	E."
	(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE			
	······································		
·	· · · · · · · · · · · · · · · · · · ·		<u> </u>
Total number of	others receiving over \$50,000 for professional services		<u> </u>
Part IX-A	Summary of Direct Charitable Activities		
	n's four largest direct chantable activities during the tax year. Include relevant statistic d other beneficiaries served, conferences convened, research papers produced, etc.	cal information such as the number of	Expenses
1 N/A			
2			
3	<u> </u>		
4			
Part IX-B	Summary of Program-Related Investments (see page	je 24 of the instructions)	
	largest program-related investments made by the foundation during the tax year on li	nes 1 and 2	Amount
1 N/A			
•			
2			
	-related investments See page 24 of the instructions		
3			
Total. Add lines	1 through 3	>	

Pa	ort X Minimum Investment Return (All domestic foundations must complete this part. Foreign	ın fo	undations,
	see page 24 of the instructions.)		
1	Fair market value of assets not used (or held for use) directly in carrying out chantable, etc.,	1	
	purposes.	1	
а	Average monthly fair market value of securities	1a	2,309,162
b	Average of monthly cash balances	1b	29,321
C	Fair market value of all other assets (see page 24 of the instructions)	1c	0
d	Total (add lines 1a, b, and c)	1d	2,338,483
е	Reduction claimed for blockage or other factors reported on lines 1a and	1	
	1c (attach detailed explanation) 1e 0	1	_
2	Acquisition indebtedness applicable to line 1 assets	_2	0
3	Subtract line 2 from line 1d	3	2,338,483
4	Cash deemed held for charitable activities Enter 1½ % of line 3 (for greater amount, see page 25 of		
	the instructions) .	4	35,077
5	Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4	5	2,303,406
_6	Minimum investment return. Enter 5% of line 5	6	115,170
Pa	rf XI Distributable Amount (see page 25 of the instructions) (Section 4942(j)(3) and (j)(5) private oper	rating	
	foundations and certain foreign organizations check here and do not complete this part)		115 150
1	Minimum investment return from Part X, line 6	_1	115,170
2a	Tax on investment income for 2009 from Part VI, line 5	-	
b	Income tax for 2009 (This does not include the tax from Part VI)		1 006
С	Add lines 2a and 2b	2c	1,086
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	114,084
4	Recovenes of amounts treated as qualifying distributions	4	111 001
5	Add lines 3 and 4	5	114,084
6	Deduction from distributable amount (see page 25 of the instructions)	6	
7	Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII,		114 004
	line 1	7	114,084
Pa	THE XII Qualifying Distributions (see page 25 of the instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes		
а	Expenses, contributions, gifts, etc —total from Part I, column (d), line 26	1a	131,892
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,	ı	
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the		
а	Suitability test (prior IRS approval required)	_3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	131,892
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income		
	Enter 1% of Part I, line 27b (see page 26 of the instructions)	5	0
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	131,892
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation		
	qualifies for the section 4940(e) reduction of tax in those years		

P	art XIII Undistributed Income (see page 26 of	the instructions)			
		(a)	(b)	(c)	(d)
1	Distributable amount for 2009 from Part XI,	Corpus	Years prior to 2008	2008	2009
	line 7				114,084
2	Undistributed income, if any, as of the end of 2009.				
а					
b	Total for prior years 20 , 20 , 20	H		· · · · · · · · · · · · · · · · · · ·	
3	Excess distributions carryover, if any, to 2009				
а	From 2004 22,990	o	•		
b	From 2005 3,709	9	1		
С	From 2006				
d	From 2007 5, 33	7	‡		
е	From 2008		1		
f	Total of lines 3a through e	32,036	Ī		
4	Qualifying distributions for 2009 from Part XII,				111 - 1-1- WHI - 1 ' 1, - 1-1-
	line 4 ◆ \$131,892		•		
а	Applied to 2008, but not more than line 2a				
b	Applied to undistributed income of prior years				,
	(Election required—see page 26 of the instructions)				
С	Treated as distributions out of corpus (Election				
	required—see page 26 of the instructions)				
d	Applied to 2009 distributable amount				114,084
е	Remaining amount distributed out of corpus	17,808			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
5	Excess distributions carryover applied to 2009				
	(If an amount appears in column (d), the same				
	amount must be shown in column (a))				
6	Enter the net total of each column as				
	indicated below:				
а	Corpus. Add lines 3f, 4c, and 4e Subtract line 5	49,844			
b	Prior years' undistributed income. Subtract				
	line 4b from line 2b				
С	Enter the amount of prior years' undistributed				
	income for which a notice of deficiency has				
	been issued, or on which the section 4942(a)				
	tax has been previously assessed				
d	Subtract line 6c from line 6b Taxable				
	amount—see page 27 of the instructions				
е	Undistributed income for 2008 Subtract line				
	4a from line 2a Taxable amount—see page				
	27 of the instructions				
f	Undistributed income for 2009 Subtract lines				
	4d and 5 from line 1 This amount must be				
	distributed in 2010		·		0
7	Amounts treated as distributions out of corpus				
	to satisfy requirements imposed by section				
	170(b)(1)(F) or 4942(g)(3) (see page 27 of the			,	
	instructions)				
8	Excess distributions carryover from 2004 not				
	applied on line 5 or line 7 (see page 27 of the				
_	instructions)	22,990		*************************************	
9	Excess distributions carryover to 2010.				
40	Subtract lines 7 and 8 from line 6a	26,854			
10	Analysis of line 9				1
a	Excess from 2005 3,709	4			1
b	Excess from 2006	_			
С.	Excess from 2007 5, 337	4			
d	Excess from 2008	-			
<u>e</u>	Excess from 2009 17,808	1			

	Private Operating For			rustians and Doct \/		Page II
	art XIV Private Operating Fou				II-A, question 9)	
1a	If the foundation has received a ruling or o			9		
	foundation, and the ruling is effective for 2		=			
b	Check box to indicate whether the founda		ing foundation describe		42(j)(3) or 4942	2(1)(5)
2a	Enter the lesser of the adjusted net	Tax year	(1) 0000	Prior 3 years		(e) Total
	income from Part I or the minimum	(a) 2009	(b) 2008	(c) 2007	(d) 2006	
	investment return from Part X for					
_	each year listed		 			
b	85% of line 2a		 	+		
С	Qualifying distributions from Part XII,		Ì		Ì	
_	line 4 for each year listed		 	 		
ď	Amounts included in line 2c not used directly					
	for active conduct of exempt activities		 			
е	Qualifying distributions made directly					
	for active conduct of exempt activities					
	Subtract line 2d from line 2c		 			
3	Complete 3a, b, or c for the					
	alternative test relied upon					
а	"Assets" alternative test—enter	!				
	(1) Value of all assets		 			
	(2) Value of assets qualifying under			ľ		
	section 4942(j)(3)(B)(i)		 	 		
b	"Endowment" alternative test—enter 2/3			Ì		
	of minimum investment return shown in					
	Part X, line 6 for each year listed		 	 		
С	"Support" alternative test—enter	l .				
	(1) Total support other than gross	1	}	İ		
	investment income (interest, dividends, rents, payments on	•				
	securities loans (section					
	512(a)(5)), or royalties)					
	(2) Support from general public					
	and 5 or more exempt					
	organizations as provided in		į			
	section 4942(j)(3)(B)(III)		 	 		
	(3) Largest amount of support from					
	an exempt organization					
	(4) Gross investment income		(1):	<u></u>		
Pa	ort XV Supplementary Inform	•			1 \$5,000 or more	in assets at
	any time during the ye		of the instruction	ons.)		
1	Information Regarding Foundation Mai	_				
а	List any managers of the foundation who l			=	ne foundation	
	before the close of any tax year (but only	t they have contribute	d more than \$5,000) (See section 507(d)(2))		
	N/A	400/				
b	List any managers of the foundation who		•		tion of the	
	ownership of a partnership or other entity) N/A	of which the foundation	on has a 10% or greate	er interest		
_		Ciff I Cob	alambia eta Darana			
2	Information Regarding Contribution, G Check here X if the foundation only			ms: le organizations and does		
				-	•	
	unsolicited requests for funds. If the found			of the instructions) to indi	viduals or	
	organizations under other conditions, com			ho addrassed		
а	The name, address, and telephone number Getsch Charitable Tr			De adoressed.		
	P.O. Box 385258 Bloc				 	
ь	The form in which applications should be	supmitted and informa	ttion and materials they	snould include		
	See Statement 9					
С	Any submission deadlines See Statement 10					
			ol groon, sheet 11, 6 t	da tuada -6111 1 -		
a	Any restrictions or limitations on awards, s None	ouch as by geographic	ai aicas, Giailladie fiel	us, kinus of institutions, c	or other factors'	
						

2 Courts and Contributions Reid During the	Vegrar Approved for Ev	tura Daymant		
3 Grants and Contributions Paid During the				· · · · · · · · · · · · · · · · · · ·
Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or	Amount
	any foundation manager or substantial contributor	status of recipient	contribution	Amount
Name and address (home or business)	or substantial contributor	ļ. <u> </u>	+	
a Paid during the year Schedule Attached	Nana		1	
Schedule Attached	None		L	
	}		Attached	109,300
			}	
	\		1	
	}		1	
	1		1	
	1		1	
			1	
	{		1	
	1		1	
			1	
	{		1	
			1	
	į		1	
	İ		1	
	•		1	
			1	
	İ			
	ļ		1	
			1	
	<u> </u>			
	ł			
	ļ			
	ļ			
	1	İ	1	
	\		1	
	\		1	
		L		100 200
Total	T	 	<u> </u>	109,300
b Approved for future paymentN/A	}		1	
N/A				
	}	[1	
	}		1	
	1			
	}	1	1	
		1	1	
	<u> </u>		1	
Total	· · · · · · · · · · · · · · · · · · ·		♦ 3b	

	Part XVI-A ter gross amoi	Analysis of Income-Producing A unts unless otherwise indicated		business income	Excluded by	section 512, 513, or 514	(e)
			(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	Related or exempt function income (See page 28 of
1	Program serv						the instructions)
					+		
			-				
	ď		_		++-		
			_		+		
			_				
		d contracts from government agencies	_		+		
2	=	dues and assessments			- 		
		avings and temporary cash investments			14	19,491	
4		nd interest from securities			14	44,208	
5	Net rental inc	come or (loss) from real estate					
		anced property					
	b Not debt	-financed property					
6	Net rental inc	come or (loss) from personal property					
7	Other investr	ment income					
8	Gain or (loss) from sales of assets other than inventory			18	-146,840	
9	Net income of	or (loss) from special events		·			
10	Gross profit	or (loss) from sales of inventory					
11	Other revenu	ue a	_		 		
	b		_				
	с		_				
	d		_				
	θ		_				
		d columns (b), (d), and (e)	L1		0	-83,141	
		ne 12, columns (b), (d), and (e)				13	-83,141
		n line 13 instructions on page 28 to verify calculation					
_!	Part XVI-B	Relationship of Activities to the					
	Line No.	Explain below how each activity for which incom accomplishment of the foundation's exempt purp instructions)					the
_	N/A						
_		· · · · · · · · · · · · · · · · · · ·					
			····				
_			<u> </u>				
			 			<u> </u>	
_							
							
						 	- <u>-</u>
							
							
_							
							
							
	1						
_							
				- -			

	-	Exempt Organiz	zations					_			
1	Did the	organization directly or inc		e in any of the following	with any other	organization de	scnbed	^		'es	No
	ın sectio	n 501(c) of the Code (oth	er than section	n 501(c)(3) organization	ns) or in section	n 527, relating to	political				
	organiza				•	. •	•			1	
а	Transfer	s from the reporting found	dation to a nor	ncharitable exempt orga	inization of					ł	
	(1) Cas	h						[1.	1(1)		X
	(2) Othe	er assets							1(2)		X
b	Other tra	ansactions						Γ			
	(1) Sale	s of assets to a noncharr	table exempt o	organization				1	o(1)		X
		chases of assets from a n	-	•				F-	(2)		X
		tal of facilities, equipment						F-	2(3)		X
		nbursement arrangement							0(4)		X
	(5) Loa	ns or loan guarantees						F-	0(5)		X
		ormance of services or m	embership or	fundraising solicitations	6				0(6)		X
С	Sharing	of facilities, equipment, m	ailing lists, oth	ner assets, or paid empl	loyees				lc		X
d	If the an	swer to any of the above	is "Yes," comp	olete the following sched	dule Column (b) should alway	s show the fair marke	et			
	value of	the goods, other assets,	or services giv	en by the reporting four	ndation If the	foundation recei	ved less than fair ma	rket			
	value ın	any transaction or sharing	g arrangemen	t, show <u>in column (d)</u> th	e value of the	goods, other as	sets, or services rece	eived			
	(a) Line no	(b) Amount involved	1	of noncharitable exempt o			tion of transfers, transac		angem	ents	
<u>[/</u>	A										
	_							. <u> </u>			
				· · · · · · · · · · · · · · · · · · ·							
				 							
			 								
			 								
			 			 .					
			 								
											
<u>-</u>	lo the fee	undation directly or indire	atly offiliated w	uth ar related to and a							
za		ed in section 501(c) of the	•	•			ns	Γ	Yes	Y	No
h		complete the following so		nan section 50 (c)(5)) (or in section 52	., .		L] 165	41	INU
	11 103,	(a) Name of organization	ilcadic	(b) Type of organ	uzation		(c) Description of	of relationship			
-	N/A			,,,,,,		_ ··	<u> </u>				
		· · · · · · · · · · · · · · · · · · ·									
									•		
	Under pe	nalties of perjury, I declare the strue, correct, and complete	at I have examin	ed this return, including ac	companying sch	edules and statem	ents, and to the best of r	ny knowledge and			
	belief, it is	true correct, and complete	Declaration of p	reparer (other than taxpays	/ _ /	_	nation of which preparer	has any knowledge	, ,		,
		NXV	SIV		8/6/	2010	EXEC	· DIRA	Cr	O/L	
2	Sign	ature of officer or trustee			Date		Title				
2		· ·	$\overline{}$	¥		Date		Preparer's			
<u></u> [·ν >	Preparer's) W	✓ CDA			Check if self-employed	number (s			
テୗ	onl Onl	signature	101h	James JA		07/2	0/10	472-	60-	21	43
1	Paid Preparer's Use Only	Firm's name (or yours if	David				_		_	_	_
- {	ر ۾	self-employed), address,		Kerxes Ave.		Ste. 50	0	EIN ♦ 41-1			
\perp		and ZIP code	Bloom	mington, MN	55431			Phone no 952-			
								Forn	, 990	-PF	(2009)

45-0510351	Federal	Federal Statements		
	Statement 1 - Form 990-PF, F	m 990-PF, Part I, Line 16b - Accounting Fees	ting Fees	-
Description	Total	Net Investment	Adjusted Net	Charitable . Purpose
Indirect Accounting Fees Total	00L \$	w w	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	\$ 700
	Statement 2 - Form 990-PF,	-PF, Part I, Line 18 - Taxes	Kes	
Description	Total	Net Investment	Adjusted Net	Charitable Purpose
F E				
IOCAL	440	446	\$ 446	S
	Statement 3 - Form 990-PF,	- Form 990-PF, Part I, Line 23 - Other Expenses	kpenses	
Description	Total	Net Investment	Adjusted Net	Charitable Purpose
で な な の の の の の の の の の の の の の	<i>\$</i>	w.	w.	w.
Supplies	111	111	111	111
	333	65 33	65 33	33
- (1)				
KBC Investment Fees Total	8, 765	8,765 \$ 8,974	8,765 \$ 8,974	\$ 8,974
		:		1-3

45-0510351

Federal Statements

Statement 4 - Form 990-PF, Part II, Line 10b - Corporate Stock Investments

_		
Des	วยเก	หเดท
	~ p~	

	Beginning of Year	End of Year	Basis of Valuation	Fair MarketValue
Acct 26585 US Equities	1 460 000	^ 1 404 000	Q t	4 1 255 201
Acct 26585 International Equitie	\$ 1,469,823	\$ 1,424,208	Cost	\$ 1,355,281
Acct 20000 international Equitie	194,631	304,378	Cost	355,988
Acct 26585 Other Assets				555,555
	81,164		Cost	
Balance Adjustment	225 215	000 651	~ .	
	-235,215	-202,651	Cost	
Total	\$ 1,510,403	\$ 1,525,935		\$ 1,711,269

Statement 5 - Form 990-PF, Part II, Line 10c - Corporate Bond Investments

Description

	Beginning of Year	End of Year	Basis of Valuation	Fair Market Value
Acct 584 Fixed income fund	\$ 879,000 \$	293,000	Cost	\$ 296,944
Acct 585 Fixed income fund		,		•
	57,653	462,196	Cost	502,111
Total	\$ 936,653 \$	755,196		\$ 799,055

Statement 6 - Form 990-PF, Part III, Line 3 - Other Increases

Description	 Amount
Timing Difference with brokerage accets	\$ 2,800
Total	\$ 2,800

Statement 7 - Form 990-PF, Part III, Line 5 - Other Decreases

	Ar	nount
Payment of previous year tax payments Current year tax payment	\$	15 543
Total	\$	558

Name and Address Addre	45-0510351	Federal S	Federal Statements	40		
wne and ddress Title Hours (chors) Average (chors) Compensation 5438 Trustee 0.00 0.00 5438 Trsutee 0.00 0.00 5438 Trsutee 0.00 5438 Exec Dir 5.00 5438 12,00	Statement 8 - Form 9	90-PF, Part VIII, Line	1 - List of Office	ers, Directors, Trus	tees, Etc.	
ch Trustee 0.00 5438 Trustee 0.00 5438 Trsutee 0.00 Trsutee 0.00 5438 Exec Dir 5.00 12,00	Name and Address	Title	Average Hours	Compensation	Benefits	Expenses
Trustee 0.00 Trustee 0.00 5438 Trsutee 0.00 Trsutee 0.00 5438 Exec Dir 5.00 12,00		Trustee	00.0	0	0	G
Trustee 0.00 Trsutee 0.00 Trsutee 0.00 Exec Dir 5.00 12,00	ľλ	Trustee	0.00	0	0	0
Trsutee 0.00 Trsutee 0.00 Exec Dir 5.00 12,00	John H. Getsch P.O. Box 385258 Bloomington MN 55438	Trustee	00.0	0	0	0
Trsutee 0.00 5438 Exec Dir 5.00 12,00	Dianne H. Getsch P.O. Box 385258 Bloomington MN 55438	Trsutee	0.00	0	0	0
Exec Dir 5.00	Marilyn R. Getsch P.O. Box 385258 Bloomington MN 55438	Trsutee	0.00	0	0	0
	David D. Getsch P.O. Box 385258 Bloomington MN 55438		2.00	12,000	0	0

- -



Federal Statements

Statement 9 - Form 990-PF, Part XV, Line 2b - Application Format and Required Contents

Description

Applications should be in written form with reason for grant or donation.

Statement 10 - Form 990-PF, Part XV, Line 2c - Submission Deadlines

Description

Applications are accepted at any time. Unsolicited applications are not accepted.

Form 990-PF, Part XV, Line 2d - Award Restrictions or Limitations

Description

None

Location	Purpose	Grant
Scottsdale, AZ	Operations	\$1,000
Hebron, KY	Creation Museum	\$2,000
Minneapolis, MN	CES Food Shelf	\$500
Chattanooga, TN	Missionary Support	\$500
Orlando, FL	Missionary Support	\$2,700
Albuquerque, NM	Missionary Support	\$1,200
Bloomington, MN	Operations	\$2,000
Maple Grove, MN	Operations	\$3,300
Edina, MN	Operations	\$200
Mınneapolis, MN	Missionary Support	\$1,000
Little Falls, MN	Missionary Support	\$2,000
Springfield, VA	Slovakia Project	\$1,200
Springfield, VA	Missionary Support	\$5,800
Minnetonka, MN	Operations	\$9,200
St. Louis Park, MN	Operations	\$4,000
Bakersfield, CA	Missionary Support	\$2,500
St. Paul, MN	Film Documentary	\$25,000
St. Paul, MN	Operations	\$1,000
Wheaton, IL	Missionary Support	\$7,200
Overland Park, KS	Missionary Support	\$500
Buffalo, NY	Missionary Support	\$500
Minneapolis, MN	Operations	\$1,000
Crystal, MN	Building Fund	\$5,000
Atlanta, GA	Haiti Mission	\$1,000
Colorado Springs, CO	Missionary Support	\$500
Georgetown, IL	Building Fund	\$5,000
Edina, MN	Operations	\$500
Winona	Scholarships	\$4,000
Edina, MN	Prison Bible Study	\$1,500
Dallas, TX	Missionary Support	\$2,000
Excelsior, MN	Building Fund	\$12,500
Orlando, FL	Missionary Support	\$1,000
	Hebron, KY Minneapolis, MN Chattanooga, TN Orlando, FL Albuquerque, NM Bloomington, MN Maple Grove, MN Edina, MN Minneapolis, MN Little Falls, MN Springfield, VA Springfield, VA Minnetonka, MN St. Louis Park, MN Bakersfield, CA St. Paul, MN St. Paul, MN Cryal, MN Wheaton, IL Overland Park, KS Buffalo, NY Minneapolis, MN Crystal, MN Atlanta, GA Colorado Springs, CO Georgetown, IL Edina, MN Winona Edina, MN Dallas, TX Excelsior, MN	Hebron, KY Minneapolis, MN CES Food Shelf Chattanooga, TN Missionary Support Orlando, FL Albuquerque, NM Bloomington, MN Operations Maple Grove, MN Missionary Support Little Falls, MN Missionary Support Springfield, VA Slovakia Project Minnetonka, MN Operations St. Louis Park, MN Missionary Support St. Paul, MN Missionary Support Minneapolis, MN Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Missionary Support Minneapolis, MN Operations Crystal, MN Missionary Support Minneapolis, MN Operations Crystal, MN Missionary Support Minneapolis, MN Operations Crystal, MN Building Fund Atlanta, GA Haiti Mission Colorado Springs, CO Missionary Support Georgetown, IL Building Fund Dallas, TX Missionary Support Missionary Suppo

. ,

REALIZED GAINS AND LOSSES
(9getsch) Getsch Tr/Investment
GETSCH CHARITABLE TRUST / InvESTMENT ACCOUNTS
(30326584/30326585-PFS)
From 01-01-09 Through 12-31-09
EIN: 45-05/035/

				. 247	1000100 0			Gain Or Loss	r Loss
Open	Close			Cost	Cost	Price	•		
Date	Date	Quantity	Security	Per Share	Basis	Per Share	Proceeds	Short Term	Long Term
12-16-08	10-27-09	355.240	355.240 Allianz NFJ Small Cap Value Cl A	19.07	6,774.43	22.52	8,000.00	1,225.57	
02-05-09 12-17-08	60-80-90 60-80-90	2,155.172 I 18.424 I	Bond Fund of America CI F2 Diamond Hill Focus Long Short Cl I	10.71	23,081.89 264.02	11.60	25,000.00 270.10	1,918.11 6.08	
12-31-08	60-50-90	65.537	Diamond Hill Focus Long Short Cl I	13.73	899.82	14.66	960.77	60.95	
04-09-09	10-02-09	4,786.979	Growth Fund of America CI F	20.89	100,000.00	25.41	121,637.15	21,637.15	
12-24-08	10-05-09		Growth Fund of America Cl F	19.69	1,400.58	25.41	1,807.46	406.88	
03-19-09	60-80-60	20.919	Jensen Portfolio Cl J	16.81	351.65	21.76	455.20	103.55	
06-18-09	60-80-60	12.656	Jensen Portfolio Cl J	19.61	248.18	21.76	275.39	27.21	
11-25-08	60-80-60	9.946	Jensen Portfolio CI J	26.28	261.39	21.76	216.42	-44.97	
12-22-08	0-90-60		Jensen Portfolio Cl J	18.89	453.51	21.76	522.42	68.91	
08-18-08	04-09-09		Touchstone Sm Cap Value	16.69	10,000.00	10.83	6,488.90	-3,511.10	
12-12-08	04-09-09	0.996 7	Oppty Touchstone Sm Cap Value	10.82	10.78	10.83	10.79	0.01	
12-31-08	04-09-09	1.064	Oppry Touchstone Sm Cap Value	11.69	12.44	10.83	11.52	-0.92	
02-10-09	60-80-20	337.549	Oppy Vanguard Short Term Investment Grade	9.84	3,321.48	10.28	3,470.00	148.52	
02-10-09	07-13-09	281.827	281.827 Vanguard Short Term	9.84	2,773.18	10.29	2,900.00	126.82	
02-10-09	07-23-09	7,766.990 Y	Vanguard Short Term Investment Grade	9.84	76,427.18	10.30	80,000.00	3,572.82	
02-10-09	10-21-09	545.492 v	Vanguard Short Term Investment Grade	9.84	5,367.64	10.57	5,765.85	398.21	
02-10-09	12-08-09	1,230.744 V	Vanguard Short Term Investment Grade	9.84	12,110.52	10.65	13,107.42	06.966	
02-11-09	12-08-09	707.771 I	177.707 Vanguard Short Term Investment Grade	9.84	1,748.64	10.65	1,892.58	143.94	
Total Shor	Total Short Term Gains	NS .			248,186.29		276,010.86	27,824.57	
01-24-05	02-17-09	3,425.200 /	3,425.200 AllianceBernstein Intl Value Adv Cl	16.14	55,282.73	8.63	29,559.47		-25,723.26
05-04-06	02-17-09	1,138.952	1,138.952 AllianceBernstein Intl Value Adv Cl	21.95	25,000.00	8.63	9,829.15		-15,170.85

RBC Wealth Management

REALIZED GAINS AND LOSSES
(9getsch) Getsch Tr/Investment
GETSCH CHARITABLE TRUST / Investment
(30326584/30326585-PFS)
From 01-01-09 Through 12-31-09 $\forall \mathcal{S} - \mathcal{O} S / \mathcal{O}$

				ý Į				Gain Or Loss	r Loss
Open	Close			Cost	Cost	Price			
Date	Date	Quantity	Security	Per Share	Basis	Per Share	Proceeds	Short Term	Long Term
12-18-06	02-17-09	272.095	272.095 AllianceBernstein Intl Value Adv Cl	22.52	6,127.59	8.63	2,348.18		-3,779.41
12-18-06	02-17-09	127.571	Allic	22.52	2,872.91	8.63	1,100.94		-1,771.97
12-18-06	02-17-09	58.040		22.52	1,307.05	8.63	500.89		-806.16
12-20-05	02-17-09	225.879		18.08	4,083.89	8.63	1,949.34		-2,134.55
12-20-05	02-17-09	72.998		18.08	1,319.80	8.63	629.97		-689.83
12-20-05	02-17-09	52.338		18.08	946.27	8.63	451.68		-494.59
12-26-07	02-17-09	297.902		22.28	6,637.25	8.63	2,570.89		-4,066.36
12-26-07	02-17-09	126.873		22.28	2,826.72	8.63	1,094.91		-1,731.81
12-26-07	02-17-09	27.054	27.054 AllianceBernstein Intl Value Adv Cl	22.28	602.76	8.63	233.48		-369.28
01-24-05	03-02-09	8,998.989	8,998.989 Amcap Fund Cl F1	17.55	157,932.26	68.6	89,000.00		-68,932.26
01-24-05	10-21-09	1,113.154	Aston Optimum Mid Cap I	23.17	25,791.78	24.55	27,327.92		1,536.14
CO-10-70	60-01-70	000,88	Dadger of BK Cassville WI	100.00	99,000.00	100.00	99,000.00		0.00
01-28-05	02-04-09	95,000		100.00	95,000.00	100.00	95,000.00		0.00
01-28-05	02-09-09	99,000	4.000% Due 02-04-09 99,000 Cygnet Private Bk Ponte Verdra FL CD	100.00	99,000.00	100.00	99,000.00		0.00
02-25-08	60-50-90	2,641.310	4.000% Due 02-09-09 2,641.310 Diamond Hill Focus Long Short C.I.	18.93	50,000.00	14.66	38,721.60		-11,278.40
04-21-08	60-50-90	1,562.500	1,562.500 Diamond Hill Focus Long	19.20	30,000.00	14.66	22,906.25		-7,093.75
02-01-05	02-17-09	000'66	99,000 Equity Bk Dodge Center MN	100.00	. 99,000.00	100.00	99,000.00		0.00
01-24-05 12-20-06	10-05-09 10-05-09	5,127.134 174.046	4.000% Due 02-17-09 4.000% Due 02-17-09 5,127.134 Growth Fund of America Cl F 174.046 Growth Fund of America Cl F	26.13 32.85	133,972.00 5,717.42	, 25.41 25.41	130,280.47 4,422.51		-3,691.53 -1,294.91

REALIZED GAINS AND LOSSES
(9getsch) Getsch Tr/Investment
GETSCH CHARITABLE TRUST / INVESTMENT ACCOUNTS
(30326584/30326585-PFS)
From 01-01-09 Through 12-31-09 arrangle + 6.05 +

				0 0	108010			Gain C	Gain Or Loss
Open	Close	,		Cost	Cost	Price	-		
Date	Date	Quantity	Security	Per Share	Basis	Per Share	Proceeds	Short Term	Long Term
12-20-06	10-02-09	46.154	Growth Fund of America Cl F	32.85	1.516.16	25.41	1.172.77		-343 39
12-20-07	10-02-09	335.779	Growth Fund of America Cl F	33.19	11,144.52		8,532,14		27 617 38
12-20-07	10-02-09	60.333		33.19	2,002.44		1,533.06		-469 38
12-21-05	10-05-09	37.626		30.66	1,153.61	25.41	956.08		-197.53
12-21-05	10-05-09	32.893		30.66	1,008.51	25.41	835.81		-172 70
01-28-08	60-80-60	949.127	Jensen Portfolio Cl J	26.34	25,000.00	21.76	20.653.01		4 346 99
03-25-08	60-80-60		Jensen Portfolio Cl J	26.28	305.92	21.76	253,31		.52.61
03-27-07	60-80-60	7.015	Jensen Portfolio Cl J	26.83	188.20	21.76	152.65		-35.55
05-04-06	08-26-09	1,203.147	Jensen Portfolio Cl J	24.49	29,465.07	21.61	26.000.00		-3.465.07
05-04-06	09-01-09		Jensen Portfolio Cl J	24.49	19,656.75	21.18	17,000.00		-2,656.75
05-04-06	60-80-60		Jensen Portfolio Cl J	24.49	25,878.17	21.76	22,993.42		-2,884.75
06-19-08	60-80-60		Jensen Portfolio Cl J	26.22	234.23	21.76	194.38		-39.85
06-25-07	60-80-60			28.21	147.86	21.76	114.04		-33.82
06-29-06	60-80-60		Jensen Portfolio Cl J	23.61	170.09	21.76	156.76		-13.33
09-24-07	60-80-60		Jensen Portfolio Cl J	28.47	190.83	21.76	145.86		-44.97
09-58-06	60-80-60			25.53	134.49	21.76	114.63		-19.86
12-24-07	60-80-60		Jensen Portfolio Cl J	28.40	653.07	21.76	500.37		-152.70
12-24-07	60-80-60		Jensen Portfolio Cl J	28.40	237.27	21.76	181.80		-55.47
12-29-06	60-80-60	6.077	Jensen Portfolio Cl J	27.06	164.44	21.76	132.24		-32.20
01-28-05	02-09-09	95,000		100.00	95,000.00	100.00	95,000.00		0.00
			UTCD						
01-28-05	04-08-09	99,000	Signature Bk NA Toledo OH CD	100.00	99,000.00	100.00	99,000.00		0.00
		7	4.000% Due 04-08-09						
01-24-05	05-21-09	1,416.900		21.89	31,015.94	15.52	21,990.29		-9,025.65
04-27-06	04-09-09	48.780	Touchstone Sm Cap Value	20.50	1,000.00	10.83	528.29		-471.71
12-15-06	04-09-09	0.725	Oppty Touchstone Sm Cap Value	20.21	14.65	10.83	7.85		-6.80
12-15-06	04-00-00) 467	Oppty Toucheton Sm Con Weller			•			•
00-01-21	60-60-40		Touchstone on Cap value Oppty	70.71	9.44	10.84	2.06		- 4.38
12-19-07	04-09-09	3.785	Touchstone Sm Cap Value	17.57	66.51	10.83	40.99		-25.52
12-19-07	04-09-09	1.297	Oppty Touchstone Sm Cap Value	17.57	22.79	10.83	14.05		-8 74
			Oppty						·
12-31-07	04-09-09	0.055	Touchstone Sm Cap Value Opptv	17.82	86'0	10.91	09.0		-0.38
			7.11.						

REC Wealth Management
REALIZED GAINS AND LOSSES
(9getsch) Getsch Tr/Investment
GETSCH CHARITABLE TRUST / INVESTMENT ACCOUNTS
(30326584/30326585-PFS)
From 01-01-09 Through 12-31-09

				42-(1550/50-57			Gain Or Loss	r I.oss
Open	Close			Cost	Cost	Price	•		
Date	Date	Date Quantity	Security	Per Share	Basis	Per Share	Proceeds	Short Term Long Term	Long Term
Total Long Term Gains	Term Gain	עט			1 247 802 30		1 072 127 11		00 200 744
					C.,200,172,1		11./61,6/0,1		-1/4,003.28
TOTAL GAINS	SNI						•	31,381.56	1,536.14
TOTALTO	SSES							-3,556.99	-176,201.42
TOTAL TATOL	10 4421	000			1,495,988.67		1,349,147.97	27,824.57	-174,665.28
NO CAPITA	L GAINS L	101AL REALLZED GAUNZOSS -146, NO CAPITAL GAINS DISTRIBUTIONS	-146,840./0 ONS						